5.3 Graphing Linear Equations
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Example #1: Crothall Car Rental charges customers $20 per day, plus $0.10 for each C‘OO(dIfOkS

kilometre driven.

a)  Complete the table of values.
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Complete the table of values from the given linear relation.
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Complete the following table of values: use the formula pravided, and substitute x-values
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* A linear relation when graphed forms a straight line.

——
* Or astraight line can be drawn through every point of the groph
* A linear relation has a constant rate of change.
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B) SLOPE OF A LiNe => sy Vv 'z slope.
Determine the “Rate of Change” for the following table of values: rodec? chan = % :'_'?
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Name:

Slope (vertical change over horizontal
change) is represented by the letter “m
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The slope of a line can be determ ned from
table, by umts on a coordina
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Find the slope of
each line below.
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Graph four
different lines,

\
. -\ allwith
‘N’k@(" 2 different
[ . énegative
[ slopes. Show
each slope

and compare
steepness.
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Sketch a sample (or a few) of each type of slope. Add a skier if you want! It may
help you remember the direction and whether the values are increasing or decreasing.
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Directions: Find fhe slope of the line given a palr of poinis, a table, a g
situation. Write your answer in the box bglow the problem number.
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17 | The water level in Noah's water 18 | A pef storeis seling pupples
tank is 72 inches high. Noah for §50 each plus a 1499
begins fo drain a water Tank by transfer fee.
opening a valve. The water a 5 L4 .qq
drains at the speed of 5 inches W’
per minufe, - B
™M 5 A f\ '-ﬁ?uP?wf?
'aaMA
19 | A small bookstore is seling coples 20 | To rent movies From fhe
of the book To Kill @ Mockingbird store, a person has o pay an
for $6.99 each plus $0.99 For annual membership fee of
5h~pp'|nq and handi $20 plus $2 50 for each movie |
__)_ qQ( 7b60k rented. a 6() /YY\Q\”

New Section 1 Page 7

1

H



Line howo 15 L relakeddo N7

2

Example #2: Graph theW y = 2x -4 using a table of values.

¢) In this example. the t(I\J - V(A\ U-Q/ depends on the x"‘ \IC\\UQ,
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Using your graph estimate the value of y if x = 4: 4
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Example #3: The Reynolds student council is planning to hold a dance.
The profit in dollars is four times the number of students who attend, minus $200 for the

cost of the DJ. o/ o _
> 200

l—i
a)  Write an equation that relates the profit (P) to the number of students (n) who

attend. ’P - [_|_’n _ &OO

b)  What is the lowest value of n that we can include in the table of values?

c) Create a table of values for this relation n P
—D 10 Sl ? 4 (16) =200 = - 160
(a0 o0 P = Hloy- 2002-120
S 30450,
d)  Graph the relation using your table of values. u6 Eool
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d \5(!6‘6\30 n C\O*S ( ’7) ’qo il

I
|
e) Does is make sense to join the points? Explairéﬂ) |
|
|

- O~ T |
f)  The independent v rlable is
(X-cxis _\ ’mo
the dependenl vanab[e is i?(g £ °
B—ax\ -0 = |
Ll

l IUQU‘KJL)UYJ(:»U"IO?U?CI/OO
g) How many students have to attend to make a profit? (/VL)
o\

Where did you look to find this? OQ
inrerpolaie on o Yable
Spcapn valoes

h)  How would the graph be different if the DJ was free?
—_—
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0) SRAPUING HORIZONTAL & VERTIOAL LiNeS

Create a graph for each of the following relations;
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The equation of a horizontal line has the form \Il = o “\9" = ~f in\UCQ?\\
b) x=3
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The equation of a vertical line has the form DC, = oS-

* DO - intercep) o = e c-indercep.
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Graph each line.
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D) 9RAPUING: METHOD 2.-SLOPE INTERCUEPT FORM

You can graph a linear relation represented using the egquation of the line in SLOPE-

INTERCEPT FORM:

slope-

Ml £ob ¢

y=mx+b

R_o ~ \\‘ inter CL—P%

Example #5: +\
Without using a table of values graph the following relation: ﬂdj\ﬂ'\ y
—>
y=3x+2
a) Whatiis the@e\d/t\e/r{n,‘?\(\'ﬁf\krc‘l?*\) + .
b) What is the rate of change? ( #\ = 5 K
o?e) FUp T W
¥ rememlawr
whev slope S Yo Lo
. wnote numhe - .3 _riwr BAape- 0
write it over | fY.?)'T—(m veveX-

Challenge #9: Write an equation, graph a linear relation and solve a problem.

200. Daniel works at a restaurant and
currently makes $10/h. The

Greph |

general manager has just asked 2 e (3) t\ 1€ he
him if he would like to take a 10 '\3 woricds maure
salary job for $110 per day. - un i s,
Pan T ik,
A. Write an equation to represent 1A= ® iS vetter .
income in terms of hourly pay. ™~
I =10k g . 1§ Dand
B. Write an equation to represent 50 W(f\( S < \ W\(S
income in terms of salary. \;' e SWO S(A\Qig
_ > " 'S oeten
1 =\\O . —
¢. Graph a linear relation that ”
compares the two income .
options. 10
b. He decides against the salary R e e T 1-%'( h)
osition. Was this wise? Explain —_—
P plain, S SN Time (nours)

Nnow Man

"IPPA(.!!CE "

Fewn with geean dot.

Sketch a graph of each line by identifying the y-intercept & using the slope:
N ——
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vemanmenr @ LSe (Za.oqu

Graph the following relations: T U & couple &)
a. using the properties of y = mx + b. ond couple @ --- Qy;3”
b. th heck ints with a table of values. bers”.
en check your points with a table of valyes nowm s
A x=-6 (W\w‘(d L\‘Mj gB.y=5x—2 -5 - rige
A 2 : 71 T Yo de el
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o |-4d
2 [-a
5 [-a

A\
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et
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= -a¢-0tH
= -Q(ODTH

:.~)~(\)+"\
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Assignment #5.3 pg 185-189

Required

7, 8ab, 9, 10, 11,
12, 15, 18

1, 2, 3, 4ace, Sace,

Extra Practice
4bdf, Sbdf, G,
8cd, 13, 14, 16,
17, 14

Extension
20,21,22,23
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